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Note: The question paper is divided into three sections A, B and 
C. Write answers as per the given instructions.

{ZX}e : ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

 Section - A 8 × 2 = 16
Very Short Answer Questions (Compulsory)

Note: Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

 IÊS> - "A'
A{V bKw CÎmar¶ àíZ (A{Zdm¶©)

{ZX}e : g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1) (i) Which microscope is used to study living unstained cells 

and organisms?

  Or{dV Aa§{OV H$mo{eH$mAmo§ VWm Ordm| H$m AÜ¶¶Z {H$g gyú‘Xeu 
Ûmam {H$¶m OmVm h¡?

 (ii) Who for the first time observed the electrokinetic 

phenomenon?

  {dÚwVJ{VH$ KQ>Zm H$mo gd©àW‘ {H$gZo XoIm?

 (iii) What is the primary reason that red blood cells are used 

in the study of the plasma membranes.

  bmb é{Ya H$mo{eH$mAm| H$m ßbmÁ‘m {Pëbr Ho$ AÜ¶¶Z ‘o§ Cn¶moJ 
bmZo H$m ‘w»¶ H$maU ³¶m h¡?

 (iv) Who coined the term “Endoplasmic Reticulum”?

  EÝS>moßbmO{‘H$ ao{Q>Hw$ë‘ eãX {H$gZo {X¶m?

 (v) The post office is involved in processing, packaging and 

distribution. Because of these functions, it could be used 

as an analogy for which cellular organelle?

  nmoñQ> Am°{’$g H$m H$m¶© hmoVm h¡ àg§ñH$aU, ~m±YZm VWm {dVaU& BZ 
H$m¶m] H$s dOh go {H$g H$mo{eH$m§J go ¶h EH$énVm aIVm h¡&

 (vi) Oxidative metabolism is carried out in which part of 

mitochondria?

  ‘mBQ´>moH$mZ{S´>¶m Ho$ {H$g ^mJ ‘o§ Am³gr¶ CnmnM¶ hmoVm h¡?

 (vii) What is Red Biotechnology?

  bmb O¡d àm¡Úmo{JH$s ³¶m h¡?
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 (viii) What is Episome?

  Eonrgmo‘ ³¶m h¡?

 Section - B 4 × 8 = 32
(Short Answer Questions)

Note: Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

IÊS> - ~
(bKw CÎma dmbo àíZ)

{ZX}e : {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2) Write down four important functions of Plasma Membrane.

 ßbmO‘m {Pëbr Ho$ Mma ‘hÎdnyU© H$m¶m] H$mo {b{IE&

3) Active transport is accomplished by carrier and channel 

proteins. How?

 g{H«$¶ Q´>mÝgnmoQ>© dmhH$ VWm M¡Zb àmoQ>rZ Ûmam gånÞ hmoVm h¡& H¡$go?

4) Write notes on: ZmoQ> {b{IE…
 (i) Glyoxysomes ½bmB©Am³grgmo‘
 (ii) Sphaerosomes ñH$samogmo‘

5) Describe the four cell receptors studied by you.

 AmnHo$ Ûmam nT>o hþE Mma H$mo{eH$m J«m{h¶m| H$mo g‘PmBE&

6) Explain Retinoblastoma and P53 as tumor suppressor genes.

 P53 VWm ao{Q>ZmoãbmñQ>mo‘m H$mo Am~w©X AdamoYH$ OrZm| Ho$ én ‘| g‘PmBE&
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7) Write notes on: ZmoQ> {b{IE…
 (i) Chromosome Banding H«$mo‘mogmo‘ ~|{S>J
 (ii) Karyotype JwUgyÌàén

8) Why gene regulation by the process of attenuation is absent in 
eukaryotic organisms?

 jrUZ à{H«$¶m Ûmam OrZ {d{Z¶‘ ¶yH«o$¶mo{Q>H$ Ordm| ‘| ³¶m| AZwnpñWV hmoVm 
h¡?

9) If you had a cell free extract that was capable of in vitro protein 
synthesis, how would you use this extract to determine if the 
single stranded RNA genome of a newly discovered virus were 
of plus or minus polarity?

 AJa AmnHo$ nmg àmoQ>rZ H$mo H¥${Ì‘ g§íbofU H$aZo H$s j‘Vm aIZodmbo 
CÕaU H$s CnpñW{V h¡, Vmo Amn CgH$s ghm¶Vm go H¡$go nVm bJmE§Jo {H$ 
EH$ ZdrZ ImoOo JE {dfmUw H$m EH$b g§nyb F$UmË‘H$ {d{n[aVVm H$m h¡ 
AWdm YZmË‘H$&

 Section - C 2 × 16 = 32
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

IÊS> - g
(XrK© CÎma dmbo àíZ)

{ZX}e  : {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& AmnH$mo AnZo CÎma H$mo A{YH$V‘ 
500 eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10) Write a detailed note on Somatic Hybridization.

 H$m{¶H$ g§H$aU na EH$ {dñV¥V ZmoQ> {b{IE&
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11) (a)  If you have a circular plasmid containing a single ECORI 

site, and you cut it with a ECORI, how many pieces of 

DNA will be formed? What about a circular plasmid 

containing two ECORI sites? What about a linear piece of 

DNA, containing one ECORI site?

   AJa AmnHo$ nmg EH$b ECORI gmB©Q> H$m EH$ MH«$s¶ ßbmO{‘S> h¡ 
Vmo CgH$mo ECORI go H$mQ>Zo na {H$VZo Qw>H$S>o {‘b|Jo? AJa MH«$s¶ 
ßbmO{‘S> ‘| Xmo ECORI h¡ Vmo {H$VZo DNA Ho$ Qw>H$S>o àmßV hm|Jo? 
AJa DNA ao{IH$ hmo VWm Cg‘o EH$ ECORI gmBQ> h¡ Vmo ³¶m 
hmoJm?

 (b)  Name two features of PBR322 that make it useful as a 

cloning vector. 

  PBR 322 Ho$ Xmo bjU {b{IE Omo Cgo EH$ AÀN>m dmhH$ ~ZmVo h¡&
 (c)  In a DNA ligation, why it is important to inactivate the 

restriction enzymes before adding the DNA ligase? 

   DNA ~§Ymd Ho$ Xm¡amZ, dhm± CnpñWV à{V~§Y E§S>moÝ¶y³brñg H$mo 
hQ>mZm ³¶y Amdí¶H$ h¡?

12) Explain / g‘PmBE…
 (a) RFLP

 (b) AFLP

13) What are transgenic animals? Discuss their advantages and 

disadvantages. Also add a note on ethical issues concern with it.

 nmaOrdr àmUr ³¶m h¡? CZHo$ bm^ Ed§ hm{Z¶m| H$s ì¶m»¶m H$s{OE& CZgo 
Ow‹S>o Z¡{VH$ ‘wÔmo§ na ^r EH$ ZmoQ> {b{IE&


